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GEOGRAPHY
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Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Paper : GGY-HG-RC-1016
( Physical Geography)

( eligfes e )

1. Select the correct answer :- 1x7=7
% Bes(o! A Tleredr
' (a) Ultraviolet rays of the sun are absorbed
by |

TR wfo-@gT 3 ¢ifFe =@

(i) stratosphere

(B0 YT
Contd.



(i) ionosphere .

A AECTS

(iii) ozonosphere
GG

(iv) exosphere
fpaesS

(b) The temperature of NIFE layer is about

fre oo Tavt =

(i) 1000°C -

- sooo fEfa (53

(i) 2000°C
xoo0o Ty (53

(iii) 2500°C
x¢oo fefd (53

(iv)’ 3000°C
©000 f@fﬁ (b3

(c) Doldrum is a belt of

TAS T

(i) Calm condition of winds with low
pressure ’
fA=pielr Tte IoIT <% STF

(i) Unstable condition with high
pressure

THHIFR LS S O
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(i) Thunderstorm with lightning
Re@l C=NR o

(iv) None of the above
GG GoI8 I

(d) Chemical weathering is active mainly

in the
IR Rpiteww suiRe: = 2
(i) glaciated region
foRig wwae
(i) arid region
TGR GRAS

(iii) karst region
- pafiE SwEe

(iv) None of the above
SARIG GOI8 I

(e) Sedimentary rocks are mainly made up
of weathered remains of

oI FEPTE 1R W e Rpfiee SR8
(i basalt
@6 T
(ii) hetmorphic rocks
FoaRe el 2|
(i) humas
fReary 2=
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(iv) Igneous rocks
e e e
(A A deep and narrow river valley is called
aff ¥ @iz (33 T TASKT (TR W
(i) canyon or gorge
| [RISEIC
(ii) V-shaped valley
V-SiPies TAGE
(g) Temperature and precipitation were the
basic features of climatic classification
as given by
| Ty (HFIRSETe Sie i SIS
A fofe akfes
(i) Trewartha
G
(ii) Thornthwaite
227G
(ii) Koppen
CPICATA
(iv) None of the above
GARIG OIS FZF

2. Write short answer : . 2x4=8

53 Te] a3 |
() What do you mean by monsoon
climate ?

G Ty i R e
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(i) What do you mean by precipitation ?
SACE e [ 3@

(iit) Name different layers of the lithosphere.
ZENeeR [Afen T A &

(iv) What is ocean current ?

TSGR (e Wit e

3. - Write short notes on: (any three)

5x3=15
©oR fareeen fefanrq v o
(i) Scope of physical geography
Ao QUileR AT
(i) Hydrological cycle
b |
(iii) Vertical structure of atmosphere
ISR TAFS 5o -
(iv) .Weathering and erosion
4. Answer any three of the following
questions : 10x3=30

weR 2R Tt &Rl ¢ (Rt fefEor)

(i) Describe Koppen'’s climatic classification.
10

@R TRy (AT 911 31 |
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(i) Describe the ocean bottom relief
features with diagram. 7+3=10

TSN AR SRAGHLZ ¢ 371 |
(iii) What do you mean by normal cycle of
erosion ? Write the land features

developed in different stages of normal
cycle of erosion. 3+7=10

Feiiks T e & q@ie [foq swzme
Freiies Faore 3R (@9 g-ogfe I =1

(iv) Discuss the source and distribution of

monsoon wind. 5+5=10 °
GRS IR T N [Foqe FH=AF S

411
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Paper : GGY-HG-1026
( Honours Generic)
( Geography of Tourism )
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. ‘Answer the following as directed : 1x7=7

wers AR No SR Tes g

(a) Who was the first foreigner to visit
India ?
oS TN oF T Rl A o[l
@ ez 2
(i) Hiuen Tsang
: fRerm b1
(ii) Megasthenes
cusnfzg
(iii) Fa-Hien
wl-ferw
(iv) Marco Polo
T A
(Choose the correct answer)

(z% Teh) g Tlasdr)
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(b)  Which one of the following is not an
. example of festival of Assam ?
. O (FNC0I SR CeHIR ISR WA ?

(i) Kherai
SSIET
(i) Narali Pournima
&ifer offers
(ii) Hamjhar
QRIS
(iv) Nimso kerung
g =g
(Choose the correct answer)
(&% ©ERCh) Jifz Tleredn)
(c) - is called ‘cultural capital’ of
Assam. .
5ERS ST A OF AT @@l =4 |
(i) Tezpur =~ ° :
(SG7R

(i) Nalbari

(i) Jorhat
@ARTT

(iv) Pathsala
AT

(Choose the correct answer)

(=% TEIo! Afe Tlaear)

(d) What is the full form of ATDC ?
ATDC I 7=} F{Tot 52
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(e) is the ‘tea capital’ of India.
_ TREILS DI} ISR |
() Tinsukia

RfpS
(i) Darjeeling

vifereiR
(iii) Assam

ST
(iv) Sivasagar

[REMIEE

(Choose the correct answer)

(37 TR AR TiE7s)
(f) Chitralekha Park is located at .

foarerr T © SRf%S |
(1) Shillong
- PR
(i) Manipur
T3
(iti) - Tezpur
(SG9J
(iv) Charaideu
PHETG

(Choose the correct answer)

(&% TGO 3Ifz Cfaear)
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(9)

Dcepar Beel is located at

R | _ © wafys
() Jorhat

(QIRZ6
(i) Diphu

oz
(iii) Dibrugarh
fegere

(iv) Guwahati
(Choose the correct answer)

(5% ©GICh! IR ©led)

2. Answer the following questlons in very short:

2x4=8

Wﬁmwﬁwwmz

(a)

(b)

(c)

(d)

Name two geographical components of
tourism.

s {Grg 751 CSNafei Toimmg A &
Which one is the smallest National Park
in India and where is it located ?
SRR FueH G THW (PN Wl@ia‘s ®
wf%s 2

Name two challenges of medical
tourism.

e o o= EE‘IWW’J =4 |

Name two new tourism schemes 1n
India.

TIREIHR T/ T 20 TGk A% SR <4 |

3 (Sem-1/CBCS) GGY HG/RC/G 10



3. Write short notes on the following: (any
three) 5x3=15

fRCIE AR 87T G ol ¢ ﬁmfﬁw

(a)

(b)

(c)

(d)

(e)

Cultural Tourism
HERET Ao

Raimona National Park
I IR TR

Tribes of Assam

SHAL SHAGINS

-Chapanala Falls

Bl oS

Sri Suryya Hill
S AR

4. Answer any three questions from the
following : 10x3=30 .

RO TR WeR =1 e fofapra Tes fodi s

(a) What is nature tourism ? Discuss its

advantages and disadvantages.

2+8=10
osfs oo R TWR R4 TR SHRAUEIR
A [ ) s B

(b) Analyse the factors that contributed to

the slow tourism development in North-
East India. 10

BER-9R TIRST TR 6R THINS Hia
AR IR KOst =010
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(c) What is sustainable tourism ? What
arec the ways to promote sustainable

tourism ? 3+7=10
T 26 2 o 2L08 THEAR SR
IGREE:

(d) Explain the significance of the New
Tourism ‘Policy, 2020 in Indian

cconomy. 10
ool FLRIE® Tgn 2o bR 2030 T I
M <A |

(¢ How does tourism affect the
environment ? lllustrate with example.
10

‘?fﬁm"ﬁi AL ﬁma oo IR ? TUIZITZ
Silcoificil
(f) " What is hill resort ? Elucidate the future

prospect of hill resort in Assam tourism.
2+8=10

f\rﬁﬁs%vwmﬁ—ﬁﬁ?cﬁma
AT G <A
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Péper : GGY-HG-1026
(Old Syllabus)
( Honours Generic)
( Disaster Management)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7
Y oHIAR] T &l s

(a) Name the earthquake measuring
instrument.

SR el TFOR W
(b) What is greenhouse gas ?
O T g [
(c) What is soil erosion ?
girsy oo

(d) Mention the causes of tsunami.

BRI (RRIR R 7o |

(e} Give the definition of disaster.

wrisig Ageal faa
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(c) What is sustainable tourism ? What
are the ways to promote sustainable

tourism ? 3+7=10
FTEN A6 [ 2 IETE A6 TAAER AR
= e

(d) Explain the significance of the New
Tourism Policy, 2020 in Indian

economy. 10
SRS SILFIES Ton L0 B 030 193G
I A | |

(e How does tourism affect the
environment ? Illustrate with example.
10

AR B ﬁm‘@ oolfie F(? THIZITHT
TNl 41 |
(N  What is hill resort ? Elucidate the future

prospect of hill resort in Assam tourism.
2+8=10

%ﬁ%‘“ﬁﬁwwmf‘r%ﬁ?@ﬁma
AZRA IR <
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Paper : GGY-HG-1026
(Old Syllabus)
( Honours Generic)
( Disaster Management )
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions : 1x7=7
TR AR el fadt ¢

(a) Name the earthquake measuring
instrument.

B~ (Sl TEOR NN o)

(b) What is greenhouse gas ?
oiE T o 2

(c) What is soil erosion ?
ghrsy &2

(d) Mention the causes of tsunami.
FAIE (IR R 7 |

(e) Give the definition of disaster.

wediaiR wige fra
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() What do you understand by balanced '
ccosystem ?

siRfFEfoerr eARTst I & 3= e

(g) Give the concept of vulnerability.
AZG SR AGS ARG 7w |

2. Mention two reasons of water pollution.
" | 2

AN AR 75 A TrE I |

3. What is disaster management ? 2
ISR TR (C I S

4. Give two reasons of landslide. 2
girema 7or TR v

5. What are the causes of drought ? 2

2qls 7944 IR T 7o

6. Write short notes on : (any three) . 5x3=135
55 Gt ot 3 (Rieieanr fef=ion)

() Distinguish between hazard and
disaster.

Rerfim o= qrfisR <itefy e

(i)’ Write a note on the measures that
should be adopted during and after
disaster for its management.

qedisl T2 ATS W% 02 ARR Fivs 9 (<
Fll IR R o1 G ferat |
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(iii) Explain the physical factors of
earthquake.
ST~ Ages IRTRR I 31|

(iv) Explain briefly the causes of
desertification ? |
VI TR GACE JIAT FA |

(v) Write a note on National Disaster
Management Authority.

1B yrdfist Rw e Rawm o1 (Rt o |

7. What is flood ? Explain flood as a hazard in

Assam along with its causes of occurrence.
2+8=10

A 2 TN IWAN Rof7 @R IRAERE
It 3= | '

Or/ S

What is landslide ? Mention the measures
that should be adopted during and after
the occurrence of landslide. 2+8=10

Sfiryew 2 giirye (7 AECS 9= (AR forp®
i1 S9N IR/IRRT RIw 3¢ 3= |

8. Define global warming. Explain the causes

and effects of global warming in detail.
2+8=10

(TR Teet 3fER W@ | enES Ted I
TR TR WR AORE KA SCEEA 47 |
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Or/ 41

What are the major hazards and disasters
in North-East India ? Discuss how to

mitigate hazard and disasters at different
levels. 4+6=10

-ﬂﬂﬂﬂ—mﬁmmﬁmﬁmﬁ%
ﬁi?ﬁﬁﬂmmmﬂ WW‘T SICERCAIT
e 3= =@ a1 =01

9. What is man-made hazard ? Write a note
on the causes of man-made hazard and its
effects in global context. 2+8=10

MR 378 el R e W 7R qr FRAERR e
R+ Rfen Twes @@ TR gere e
3l =41 |

Or/ g2<1

Expléin the causes of earthquake in detail.
Write a note on North-East Indian region as
an earthquake-prone area. 3+7=10

SRRET PRETIR 991 3] | Slle=i-2i7w w2 =pI
TG-Skl [REw o1 (G =
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